(@) 50- Rush Hours
C1
o C2
40 - C3+C4
e SO—W
(@)]
=2
Eé :20-_"r‘4L'4rO1rﬂﬂroﬂr‘4\¥lh‘4ﬂf’ﬂl0wk‘
o
10 -
O_IIIIIIIIIIIIIIIIIIIIIIII
0 6 12 18
Hours
© 1.0+
—e— Cf1
—o-C2
0.9 1 C3+C4
_5 0.8 -
©
£ 0'7'"\*”’“w\w~‘/\“
o
O 0.6
0.5 -
0'4_IIIIIIIIIIIIIIIIIIIIIIII
0 6 12 18
Hours
(€) 0.5 <
-e-C2
C3+C4
= 0.4_W
@
o
= 03_
<
gi .4(Q¢\JrH"/Folhtﬁulodktwk“\r’“:‘
(o}
g 02-
0.1

rrrrrrrrrrrrerrrrrrrrrirrrnd
0 6 12 18
Hours

—~
O
N
—_
o
|

—o— C1
—e— C2
C3+C4
o 0.8 -
£ -
30.6— \
7))
% 4—;\ -\\
E O-
O
D 024
0'O_IIIIIIIIIIIIIIIIIIIIIIII
0 6 12 18
Hours
(d 8-
—o— Ci1
7_+02
C3+C4
6 —
@
2, 07
> 3_
Z_WM
1 ] il
rrrrrrrrrrrrrerrrrrrrrrrird
0 6 12 18
Hours
f) 0.25 1
()025 —o— C1
—-e— C2
C3+C4
0.20 —

@)
m
S 0.15—W
Q.
(0]
X
0.10_"*”%\/)“/\«\ ”‘

rtrrrrrrrrrrrrrrrrrrrrrnTd
0 6 12 18
Hours




